Group Warm Up-NO CALC
L. The multiplicative inverse of a 3. Solve by factoring.
complex number is 1 6x* =19x+7
Fi

where gw. Find the

multiplicative inverse,or

reciprocal, of the complex

number. Then use complex 4. Solve by completing the

conjugates to simplify the square.
multiplicative inverse. zxz +4=10x
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Two complex numbers a+bi 5. Solve by gyadratic formula.
and c+di are equal when a=c

and b=d. Solve this equation —2(x+1} =3
forxandy.

2x+3pi=—14+5i
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Answers to week 12 Block Day Warm-up
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New Lesson: Solving Systems of Quadratics Using Substitution

Solve using algebra: =
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